EARAROBREBRT —5 XN—ZXBISH—F

2024548378 (B) 1EE52H

ISR 3%

N=FaN
/et

REEF

fE%E] FStin

EZER

[EERRE] - S 17000 R

[AE=%] 1 7% :5,500,000 § ~ 27 :2,200,000 @ .~ 37 :1,400,000 H 4 3&:830,000 . 5 7&:550,000 H

B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- 3 | EEHKC 1:47.5 5-5-4-2 |39.4| 86.5 | 1 464 | BEFE (FR)
1M @7 XUNYF—T R & il vy | 0 BT VT2
A:Into Mischief & :Good Vibes Orpendale/ Wynatt
wan o 3 | EFRER 1:47.8 6-6-8-5 |39.3| 84.0 | 6 476 | BEHE EH)
2 2 | FEAY Y3 57.0 A 3/4) o |BEERS
RiVa—hnrF—/ B:OVFTILFYR B EEEG R IEE RS
W TP tv 3| #BhA 1:47.9 6-6-4-4 |39.8 | 83.3 | 15 | 448 | EEAA (EH)
317113 TAY—=NILIKT £770 (3/4) e |mEmE
R:vadrIISy B:EhTLA Azt
» P s 4 3 | FIAER 1:48.1 1-1-1-1 [40.4| 82.0 | 2 462 | EKEEe ()
41111 SAIYaDIY 57.0 (1 1/4) (-20) gﬁ“ﬁ‘éﬁ]
RTFRIESTI B:Ea—FA4HY RUFRT—T I
W R — ], R 83 | SEEB—ER 1:48.1 10-10-8-8 |39.5| 81.5 | 4 | 490 |&R (FR)
58|14 NATYRD—=UR a54.0 "F) oy | BREBHE
RFIPITRTUVR B:NAT4—JLR AWNE TS
3 = €y 3 | Alxs 1:48.4 14-14-15-12| 39.2 | 78.9 | 11 | 478 |EXHER @)
61815/ A/ AV T+ ke a1/2) (o) |P¥F—ELR
RIIET7RAT7 B:S5THY ho—)L #Hiait vrF—eiLX
BRAS : -15-10- BB—5 (R
75l g| 7477 —FvuF # 3 | BER 1'611%'5 15-15-10-11/ 39.8 | 78.3 | 3 (4_53 :é%ﬁ)( )
R:7ROTFVIvH— #B:Edv b HRRH 7—RT7—LA
— = H o3 | HREE 1:48.7 2-2-2-2 |40.9| 77.4 | 12 | 494 |BEER (FEH)
8 ‘]0 QU/T? /\ 57.0 (1 1/4) +#6) EpNa
RiZA—AV—RFA BiEA19V4—F2R HEEANS
y 3 | BEXRET 1:48.7 8-8-12-12 (39.8 | 76.7 | 9 | 468 |#HAEE FR)
N > BEER 2 2550 A o |EFEE
RIE—ZY B:FT4Z—) )| S8
S~ g FR—Ha : -11-10~ aPEE (H)
10 4| ARBYAVNL 43 o (11418/5 12-11-10-8 | 40.1 | 75.2 | 14 (4_1?3) ggﬁm
RiSZ B:ARNY FRIUS
= 4 3 | EHpR 1:49.3 12-12-7-6 | 41.0| 72.8 | 8 294 | FIEZ (FEHR)
1 7| FATLF 57.0 Q) (-4) |TAEE=
RivA4740 B:FUYPYRITU-X RERUS
= 3 | BEH 1:49.6 11-13-14-14| 40.5 | 69.9 | 10 | 462 |KXHFHL )
A1 ARETLT« i 57.0 (1 3/4) “8) (ﬁ)at“‘yd‘lwy RI7—L
RIYIRI—=ZRI— B:FVI—T1—V Sl
o oy = HO8A :49. -3-4- . . TEBX (FR)
1317 |12| =REOTILT « "3 756.0 (17:?7()) pIAs A4 08T (4_5; I\FAZE—
R:d=ILRYwZ B:ZhrveEON—EIL =
= 3y~ s 3 | JURKS 1:49.8 2-3-3-6 |41.9| 69.8 | 5 72 | KE—R (F®H)
14| 5| 8 | TRA—=34A4I VT 756.0 M (g |EREM
R:STU—FA BTy RPZNDRI— FHENT7—L
FREFHE :51. -9-12- . . REH— (/)
15 5 | KA OH—Fy k # 3| o Rl Rl Il B B =
RNV vH—IL B I-YIURISHY KA
[ BN
En'y 52.6-39.8
NOYIAL | 7.2-11.1-11.6-12.2-12.8-12.8-13.1-13.4-13.3
@ 11— —BBIEIL
10—7+— (*1,10,8,12)6-(2,13)-(3,5)14,11(4,7)15,9
20— — (+1,10) (8,12)-6(2,13)-3,5,14,4,7,11,15,9
Ia=5r= (+1,10)8(6,13,12)7(2,14) (4,9) (3,5)11,15
40—7F— 1(6,10)13,2(8,7) (4,12,14)9(15,3) 11-5
0 ILRE
BB 6 330 JA R 2-6 770M AR 2-4 1,650 3EE 2-6-13 291,860/
B B 6 1504 6-13 23,630/ o 18 2-6 2,020H 3Es 6-2-13 771,800/
2 360 2-13 70,120 oS- 6-2 3,270
13 6,010

ABIC OV TRUTEREERRODDZE. THRIIZEL.




